BIER=KW) 40
sEEkwWh/kw-)|  1000.0
% |EasEEEaw)| 4660
& [#EEFAEKW) 4.7
& |#p2EFAmw) 35.0
| BEMmAEE/KWh) 240
SEE A& (A /kWh) 42.0
ES EEEEID) 60.0
2 FH 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
x FE=(Wh) 4000 | 4000 | 4000 | 4000 | 4000 | 4000 | 4000 ] 4000 | 4000 | 4000 | 4000 | 4000 | 4000 | 4000 | 4000
— BREE 384 384 384 384] 384] 384 384 384] 384 384] 384] 384 384] 384] 384
I m&%é%uxu&(:m) e 100.8 | 100.8 | 100.8 | 100.8 | 100.8 | 100.8 | 100.8 | 100.8 | 100.8 | 100.8 | 100.8 | 100.8 | 100.8 | 100.8 | 100.8
&E 139.2 [ 139.2 ] 139.2] 139.2] 139.2] 139.2 ] 139.2] 139.2] 139.2] 139.2 [ 139.2 ] 139.2] 139.2] 139.2 ] 139.2
EHFH) |#EE 18.8] 188 188 188 188 188] 188] 188 188] 188 188] 188] 188 188] 188
FIZE(F M) 120.4 | 1204 | 120.4 | 1204 | 1204 | 1204 | 120.4 | 120.4 | 1204 | 1204 | 1204 | 120.4 | 120.4 | 1204 | 1204
g PREETH) 1864.0
Y R&EMUNEE (#BiE | 1400
o (Gl F 2% 1204 | 120.4 | 1204 | 120.4] 1204 | 120.4] 1204 | 1204 | 120.4 | 120.4 | 1204 [ 1204 | 120.4 | 120.4 | 120.4
BEENES(FHE) 17240 |1603.6 |1483.2 [1362.8 |1242.4 [1122.0 [1001.6 | 881.2 | 760.8 | 640.4 | 520.0 | 399.6 | 279.2 | 158.8 | 38.4 | -82.0
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& [#EEFAKW) 4.7
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4 FE=(KWh) 4000 | 4000 | 4000 | 4000 | 4000 | 4000 [ 4000 | 4000 | 4000 [ 4000
= BxEE 384 | 384| 384| 384 384 384 384| 384] 384 384
?”yiﬁﬁémkﬁﬂ)ﬁ" 153.6 | 153.6 | 153.6 | 153.6 | 153.6 | 153.6 | 153.6 | 153.6 | 153.6 [ 153.6
U 55t 192.0 1 1920 ] 1920 ] 1920] 1920 1920] 1920 1920 1920 192.0
EHTFH) |#EE 18.8] 188] 188 188 188 188| 188] 188 188| 188
FIZE(FH) 1732 | 1732 | 1732 1732 | 1732 | 1732 | 1732 | 1732 | 173.2 | 173.2
sy PREETH) 1864.0
919 RERINZE [@E= | 1400
n— (FA) Fl 2% 17321 1732 1732 | 1732 [ 1732 [ 1732 [ 1732 ] 1732 [ 173.2 | 173.2
BERES(TH) 1724.0 |1550.8 |1377.6 |1204.4 [1031.2 | 858.0 | 684.8 | 511.6 | 3384 | 165.2| -8.0




